Cpama . \3lJze

[This. question paper contains 12 printed pages.]

L e\
Your Roll No..Zx......... A
3 /'\‘@.3 G
Sr. No. of Question Paper : 3729 5 LA "4,9},,". y
A&
Unique Paper Code . 62273601 G4
Name of the Paper :  Basic Computational Techniques
' for Data Analysis
Name of the Course : B. A.(Prog.) SEC
Semester Al
Duration : 3 Hours Maximum Marks : 50

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. You are expected to answer any four (4) out of the

eight (8) questions given below.

3. Each question is of twelve and a half marks (12%).
Each question has sub parts.

4. Use of simple calculator is allowed.

5. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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& P between these two variables X and Y on the basis
of the following data. (4.5)

1 2@ - & e € ew v FuiRa s w s
FwA foifEn |

2. R AR Ry v e (8) WAl # A fheel TR (4) 1 3TN
3 & e & W 2

3 U Ve AT SRE 3 (12%) &2 | WA WIA & I Al
AT
4 HURY SAEee B TN N FA 2 |

5. =E I - UF 1 SR et a1 RS fodt v s ¥ A, AR 3 ti?ﬁ}(:t;;)‘vj
Foq IR 1 W TF £ B AR |

(31) s wRaferm v & fE sk oRaor o =wEm 2

1. (a) How would you interpret the sign and magnitude A ? Y w7 ¥ A r= Al il gk
of a calculated ‘r’? Consider in particular the AR & |
values r = 0, r = -1 and r = +1. (4)
(@) “vafe = S W 271 v e e
(b) “Compound interest is an interest on interest”. I ) WA A 36 FAT D R AR |
Explain this statement by using a suitable
numerical example. 4) (&) FrafaRed e & forg Waer aeaer AUF 0.985658
21 Fefafa sitest @ smuR w37 @ w0 X SR Y
(c) The linear correlation coefficient for the following & 99 gEay @ @ e |

data is 0.985658. Interpret the relationship
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2. (a) In addition to RBI data 'base, which other agencies
bring out the data on macroeconomic aggregates?
Briefly discuss the main features and applications
of such data. ; 4)

(b) Write the syntax for calculation of skewness in
excel from the following data set and also interpret
the result of skewness found if skewness is
—0.20435. (4)

Claggigonsl B € | DVE §uBotiG {HL

Marks | 78 | 58 | 98 | 87 | 67 | 54 | 34 | 58 | 80

(¢) (i) Find out the confidence interval and interpret

it using the following data.

Data

Sample Standard deviation 25.28

Sample mean 43.89
Sample Size 27
Confidence level 95%

(i) What is the level of significance from the
above data?

(iii) Define Type I and Type II error. (4.5)

(31) SRAHE ST 9@ R OIWE, wA @ G vaEr
Al - FERAIE @iRcE W T At F 7 W I )
o faRwarst ok srwEet W we ¥ == a |

(@) fwfeiiaa Se1 dT ¥ veRe ¥ wgnE &) e @ R
fidaw ford iR o ww - 020435 2 T Daw @
IR &) Swer O R |

Class | A | B|C|D|VE|F|G|H]|I

Marks | 78 [ 58 | 98 | 87 | 67 | 54 | 34 | 58 | 80

(@) (i) fwEw sioRe @ gar WY sk FEfE o
AT ITNT S @S TREAT Y |

| b8 W)
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Data

Sample Standard deviation 25.28

Sample mean 43.89
Sample Size 27
Confidence level 95%

(i) IR MES ¥ Ao H TR M8 7
(i) @rE9 1 R Ty I A = aRenfia =<

3. (a) Explain the nature and types of data used in social
science research. Discuss the various methods of

analysis of quantitative data. 4)

(b) The following table indicates the percentage
of residential electricity consumption in the

United States, in a recent year organized by type

of use. (4)
Type of Use Percentage %
Cooking 2%

Cooling 15%
Electronics 9%
Heating 15%
Lighting 13%

3729

)
Refrigeration 10%
Water Heating 10%
Wet Cleaning 3%
Other 23%

(1) Construct a bar chart, and a pie chart.

(i) Which graphical method do you think is

best for portraying above data?

(c¢) Can we compare the standard deviation for both

A B 2 g
1 [Student Height (CI Weight (KG)
2 1 By e
4 3 175 71
5| 4, " 18 72
6 - . 2 B
7 6 190 79

the following data sets? State how can you
determine the variability of these data sets?

(4.5)

o fase saae § wgad e @ we SR
VRl & AT &Y | WA 3T & favenor & fafer

FAH W o= w

P.T.O,
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(@) ot wiferen dgere T SRRET ¥ T & ¥ F IwE
& YER g A A et |ud @ wihea &

3 w2

Type of Use Percentage %
Cooking 2%
Cooling 15%
Electronics 9%
Heating : 15%
Lighting T 19%
Refrigeration 10%
Water Heating 10%
Wet Cleaning 3%
Other 23%

(i) vk 9R o¢ A vE WE A T

(i) SR 3 R R w@ & fe s =
& fmwg fafr @=@ et S |

(@) @ e Feafafaa A 3@ ¥ & fog A fEer
N o X wES § 7 A fR S e & A
qReddieEr @8 FufRa & @@d 2 7

4.

AR 8

1 [Student Height (C! Weight (KG}
2 1 178 85

3 2 180 W
4 3 s U

3 it 185 e
6 Sl arm il

7 6 190 79

Write short notes on any two of the following :

(a) Methods of data collection

(b) R Studio

(c) Covariance 125
fefofae ¥ 3 =l @ W Afera oo fofaw

(37) a1 WE & ERED

(@) R =R

(@) "EwERT

(a) “A coefficient estimate is statistically significant
at the 10% significance level”. Explain. 4)

(b) What is NPV? What function would be required
to calculate NPV in Excel. (4.5)

RTL Q)
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(c) Write significance of Boxplot in Excel. 4)

(3r) “veh TN FTA 10% HET TR W ARAGT & &
AU 2| HHAEY |

() NPV @1 2 ? vae ¥ NPV &t 0MT & & forg
fore wae &) AT BRT |

() vHde ¥ deawiic & #Ed fofRag |

6. (a) Write the syntax in MS Excel for finding Kurtosis
and also determine the type of Kurtosis of the
following data set. 4)

X 22 26 62> 54 | 34 | 40 28

(b) Explain the importance of Line diagram and
Histogram. What are the advantages and
disadvantages of using them in data analysis?

(4)

(c¢) The following table exhibits the relation between
change in temperéture and sale of ice-cream. Build
a linear regression equation from given ANOVA
table below. (4.5)

Standard Lower  Upper  Lower  Upper
Coefficients Error t Stat P-value  95% 95% 95.0%  93.0%

Intercept 8.050741  4.691719  1.715947 0.161314 -4.97556 21.07704 4.97556 21.0770

sale of

ice-

cream  0.000408  8.6E-05  4.749017 0.008977 0.00017 0.000647 0.00017 0.00064
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(37) Kurtosis @™ & faw v va v ¥ fdww ey
aﬁTﬁWﬁﬁdﬁﬁaﬁ‘c’%Kunosis%Waﬁﬁ
FaiRa =¥

X 22 26 62 | 54 | 34 | 40 | 28

(T) W e SR Rewm @ e @ wwen W
ﬁs@w%’mmaﬂﬁ%wmsﬂtw
&7

() Fr aformt qemer & oRadw ik s & B
& W FEY TR 2 AR & S oha Al ¥ v
W wHHE FhET =Y |

Standard Lower  Upper  Lower  Upper
Cocfficients Error t Stat P-value  95% 95% 95.0% 95.0%

Intercept 8.050741  4.691719  1.715947 0.161314 -4.97556 21.07704 497556 21.0770

sale of
ice-

cream  0.000408  8.6E-05  4.749017 0.008977 0.00017 0.000647 0.00017 0.00064

7. (a) The file Sedans contains the overall miles per gallon
(MPG) of 2021 midsized sedans -

321 46 | 16| 30|34 |56|48|28|44|36]54]20
69| 22133 22|14 (38(37]32|30]45|33]| 25

(i) Compute mean and median.

(i) Compute the variance, standard deviation,

range, coefficient of variation. (6.5)

A R @
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(b) What do you mean by hypothesis? Is it necessary
to formulate hypothesis in every research study in

social sciences? (6)

(1) IEA HSH A 2021 HAN HER &t A 1 Hel Aol
afer e (TErdeh) e @

3246 | 16| 30|34 (56|48 28|44 36|54 (20
6922 (33]22]14(38(37(32]30(45(33(25

(i) wmem 3R wfeaeRr & IUET WK |
(i) feeror, wees fameE, soft, e & e &
AT W
(¥) uReeaen & T A1 wWE 2 7 o qEforeh [Aa @
TAE MY AT A IR TR HAT AT B 7

8.  Write short notes on any two of the following :
(12.3)
(i) Goodness of Fit R?

(ii) Equated Monthly Instalment (EMI)
(iii) OLS Regression Method
frfofas & @ fFdt @ w dfer ool forfeag
(i) fhe R2 & 3o
(i) @ wigew fee (Sgasms)
(iii) OLS faramr fafer

(1600)



